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5cm 0. 23 |5em 0. 23
4y %A X | HIEZ RSB E AT 1 Sv/hz 8 uSv/hf_”%
Z TR Z2 7= & T
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(1) KRIFFELE
g X 11 254 4 9
/INEE 26 533 11 27
FEIX 127 | 1,003 2 3
" Hh X 192 | 1,464 3 4

(2) fHXAAMHE

X 211 1,783 8 10
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(3) frkE. RERARES 16 245 1 1
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(1) KREBLAE (26235336 Hr)

HIEH @ Rk23FE10H26 H ~12H9H

o 5cm™C 50cm™C gk
ZNES I HE U E 0.23u | 0.23u | iy
Yo |z SE | Cuswn) | svm | svni | P
EEDE NGB, *<

1| 224|WHALE 18 0.07 ~ 0.20 2 0 0

2| 260 | FEFR b8 B 22 ] 0.04 ~ 0.14 0 — —

3| 302[FE45 )1 B SR DA /A 20 | 0.05 ~ 0.21 0 — —

X 4| 434 AN 15 | 0.06 ~ 0.10 0 - -
5| 449[HEA S X BN 16| 0.04 ~ 0.22 0 — —

6| 453 [ FEFEIAARE A =] 18] 0.05 ~ 0.15 0 - -

7] 4985 %5 /A 17 ] 0.05 ~ 0.12 0 — —

8] 1[EEHAR 21 | 0.04 ~ 0.19 3 0 5

9]  2[BAILIA 12 ] 0.04 ~ 0.38 3 2 0

10{ 184|523 2 T HAR 10| 0.06 ~ 0.10 0 — —

EPH%IX 11{ 198 &R /AL 18 0.04 ~ 0.20 1 0 1
12| 2327 2= 25 | 0.056 ~ 0.20 4 0 5

13] 447]/LZAE 17] 0.06 ~ 0.19 3 0 2

14| 514[sEHRHE 4 A EERA R 32 | 0.05 ~ 0.21 2 0 0

15| 521l LB7ET 27 734 VANE 18] 0.05 ~ 0.19 0 — —

16| 1745 AR 18] 0.05 ~ 0.19 0 — —

17 19[#RRE A 15| 0.04 ~ 0.10 0 — —

18] 1014k LA 38 ] 0.06 ~ 0.11 1 0 0

19] 191 P& LA 41 | 0.04 ~ 0.21 0 — —

20| 199|75H Hh /A ] 16| 0.04 ~ 0.11 0 — —

@,Z 91| 215 FEAEJEURR 2 [ 25 | 0.04 ~ 0.34 3 0 96
FRAEL U RIE N E Bh ) [ 5 23 [ 0.04 ~ 0.22 2 0 10

22| 247 | FHAR R BT Hp /AN [ 19 0.04 ~ 0.22 1 0 4

23| 294|052 R 19 ] 0.05 ~ 0.19 0 — -

24| 315[WEHRJEE s AR 10 [ 0.05 ~ 0.08 0 — —

25| 469 & e B AR A 20 | 0.04 ~ 0.18 2 0 0

26| 556 SE PSP E A ] 10 ] 0.04 ~ 0.09 0 — —

P AR | 1A
= 533 27 | 2fn 123

KHF5emT0.23 u Sv/hEBZ =BT O\ T, B OS5I a 1T 1= 1% Ol
SRR R AR DO | B NSO W TCOIEHEIZREN R D720 | K4 L CafmsEs £l




(2) HXARE (5630434, 2507 FT)

OFEX. (12721, 0031 FT)
HEH : ER234FE11H8H ~11H30H

AR i S 5cmC 50cm™C

. ZNE3 - HIE ) TE 0.23 0.23
FHSY K No. | AR @t | Cusvm) | swh | svhi
CGCEDRRGED)

1|  33|'= BN 14 [0.05 ~0.11 0 -

2 O[O 7 0.06 ~0.13 0 -

3| 66[FHFRONE DY A 4 10.06 ~0.08 0 -

4 99| AR 1 THARK 7 10.06 ~0.10 0 -

5| 107 ciEA S L 9 A 8 [0.07 ~o0.11 0 -

6| 116|H @R 10 [0.06 ~0.11 0 -

7] 129 A2 THH L SIWARK 7 l0.07 ~0.08 0 -

8] 137[MiEA 3 T HAM 5 10.07 ~0.18 0 -

9] 138[tHEZHRD LA 5 10.07 ~0.11 0 -

10| 139|FEATEARNIE 6 0.06 ~ 0.08 0 -

L1 143|aEA 4 T HARF 5 10.07 ~0.11 0 -

12| 145| HIEAAE 11 [0.06 ~0.11 0 -

13 146[FHR & AR 5 [0.06 ~0.09 0 -

14 149|FH A &V BF N[ 6 0.06 ~ 0.09 0 -

15[ 155[FHF-> < LIFAH 5 0.07 ~0.09 0 -

16 163|AH)FR DI & AR 6 [0.06 ~0.08 0 -

17| 164 FILIROE Y A= 9 0.08 ~0.14 0 -

18] 165|#EAJE D 1/ [ 6 [0.07 ~0.11 0 -

19| 168 FatEA T R/ 5 10.08 ~0.09 0 -

20| 169|PHEEAL & & W AFH 7 10.07 ~0.12 0 -

B 21| 182[atEA < D & A 11 [0.08 ~0.12 0 -

n] 22| 183|VEIB AL A AT & AR 14 10.07 ~0.09 0 -

23| 212|miEAR T O = NH 8 0.06 ~0.09 0 -

24| 236| AR ANE 13 [0.05 ~0.11 0 -

25 254 b 7 JF /N 8 0.06 ~0.12 0 -

26| 255|%E / i/~ 8 [0.06 ~0.09 0 -

27| 256| Al /s 8 0.05 ~0.10 0 -

28| 257| EHTPEN[EH 9 [0.06 ~0.11 0 -

29 268[H HDANIH 9 0.08 ~0.11 0 -

30| 273 AEASFEHT /N[ 12 [0.07 ~o0.10 0 -

31| 283Kz E b AR 6 [0.07 ~0.10 0 -

32| 286| A &< B 10 10.05 ~0.14 0 -

33| 295 | HiAG A A 7 10.08 ~0.14 0 -

34| 303| B Bz HiARE 10 [0.06 ~ 0.09 0 -

35 332|PHAEA OV A 5 0.07 ~0.10 0 -

36| 336|MEtEA T A AVAE 8 [0.06 ~0.10 0 -

37| 343|FBA2 T HZe L LAE 6 [0.08 ~0.11 0 -

38] S35I[HEBAT L — X AEH 12 10.05 ~0.10 0 -

39 353 A E LR 8 0.06 ~ 0.08 0 -

40| 3T8|HIEGARAR 7 v hoX—7 5 [0.07 ~0.13 0 -

41 392|BED R & U S WA 11 [0.06 ~ 0.09 0 -

42 393[BED JFHOMNE D A H] 9 0.07 ~0.08 0 -




AR o ” f*% 5cm™T 50cm™TT
. . N & W E i 0.23 0.23
F H-5< Y X | No. ) NGBS i@% (uSv/h) Sv/hi% SV/h%
GEDRRGED)
43 401|FEEAR S TH b 74 AR 10 [0.07 ~0.10 0 -
44| 409[PEREAS T L T A A 5 0.08 ~0.12 0 -
45| ABB|BAGSNH VAR 9 [0.06 ~0.09 0
46| 414|PEEARIZIE A AR 16 [0.07 ~0.18 2 0
47 415[EpEH E 5 £ 9 A 7 0.06 ~0.10 0 -
48| A28 PEKEA A D V) /N[ 10 [0.07 ~0.13 0 -
FEA 49] 430\ PIHEARZ &Y N[E 8 10.06 ~0.10 0 -
n] 50{ 433|MitEA 2 T HAR 15 [0.06 ~0.11 0 -
51 445[FA)5 4 T HZ D I/ 9 0.06 ~0.10 0 -
52| 518|FEMEA 1 T HAE 6 0.07 ~0.10 0 -
53| 519[KLHTWp 5 OVALHE 10 |0.05 ~0.14 0 -
54| ST3[HHTCT 5 XA[H 7 10.08 ~0.10 0 -
55| 574[KILET&H S OVAHE 13 10.07 ~0.10 0 -
56| 581 AN/ 7 10.07 ~0.08 0 -
57| 6T ARENHE 8 0.05 ~0.11 0 -
58[ 77| A EALE 5 0.06 ~ 0.08 0 -
59 79| KN 13 10.06 ~0.19 0
60| 98| WE N HA[H 12 10.06 ~0.16 1
61| 158| FILIRFEDFEAEH 7 10.07 ~0.14 0
62 176|/KIH/AH 5 0.07 ~0.10 0 -
63| 251 FILIR A = A 5 0.07 ~0.11 0 -
KIR 64] 279 PR 7 [0.07 ~0.16 0 -
65| 307[yE KRNk LA 5 [0.08 ~0.12 0 -
66| 329|H G/ 11 ]0.08 ~0.15 0 -
67| 375 EJLIRL & & 0 AH 6 0.07 ~0.09 0 -
68| 405[ I KA 4 10.08 ~0.12 0 -
69| 406| K5 _EALRARE 8 10.05 ~0.10 0 -
70| 543| FILIR 7= AIFIEAR 10 [0.06 ~0.15 0 -
71| 582 F LR 31 v AF 5 [0.05 ~0.06 0 -
72| AT0|WT R/ 8 [0.07 ~0.12 0 -
73| 471 DN 9 [0.06 ~0.10 0 -
74| A2\ N 12 10.06 ~0.10 0 -
75| AT3|AGREE 1 /N 4 0.07 ~0.10 0 -
76| ATA[ARAREE 2 A 7 10.07 ~0.10 0 -
77| ATS|EEEARCA LA 6 [0.07 ~0.09 0 -
78| 4T6[EEER T X 7 V) ANHE 9 10.06 ~0.14 0 -
79| ATT|EBEGHERL AR 6 |0.10 ~0.14 0 -
80| AT8|FHIEENIHEAIR 9 [0.07 ~0.13 0 -
i}JjZlJJ 81| 479 EER /NN 7 10.08 ~0.18 0 -
82| 480|H HH/AIH 5 [0.05 ~0.07 0 -
83| 481 |ALRIRA[H 5 0.07 ~0.10 0 -
84| 482|HE /AN 10 [0.06 ~0.10 0 -
85| 483|tHIE AR 9 10.06 ~0.14 0 -
86| 484|FHIFAE 2 /A[H 5 [0.06 ~0.10 0 -
87| 485|KJE /AN 10 10.06 ~0.11 0 -
88| 486 AH 6 [0.06 ~0.08 0 -
89 487[HTEE 2 A 9 0.05 ~0.10 0 -
90| 488|JF1E A 1 /A 10 [0.05 ~0.12 0 -
91| 489F1E I 2 /A 13 [0.04 ~0.15 0 -




AR - ” f*% 5cm™T 50cm™TT

. . N HE W E i 0.23 0.23
F H-5< Y X | No. ) NGBS iﬁ‘% (uSv/h) Sv/hﬂ% SV/h%
GEDRRGED)

92| 490|J1ETE 5 3 A 10 10.06 ~0.12 0 -

93| 491 R IAE 6 10.06 ~0.12 0 -

94| 492|515 YN[ 9 [0.05 ~0.09 0 -

95| 493|WT B 3 /A 5 [0.06 ~0.08 0 -

i)JjZUJ 96| 494/ R4 E 7 0.07 ~0.10 0 -

97| 495 [A) i HR /A 11 [0.07 ~0.13 0 -

98|  496|1H1 5 FE 28 B 9 10.06 ~0.11 0 -

99| A97|FHIESR TV — A 7 0.06 ~0.11 0 -

100 515| AR IR FE 28 ] 10 [0.08 ~0.18 0 -

101 516|m)JFEPE A 5 0.08 ~0.11 0 -

102 450|112 12 [0.05 ~0.12 0 -

103|451 | EAT A LA 8 10.07 ~0.10 0 -

104 452|p2 UIR AR 8 [0.08 ~0.12 0 -

105 523|OAR721E » Z DREAR 6 [0.08 ~0.10 0 -

106 564 K5 1 AR 6 [0.08 ~0.17 0 -

107 565[ K 2 /AR 5 [0.10 ~0.14 0 -

108 566|fEAAE 5 [0.06 ~0.08 0 -

L%ﬁ\# 109] 567|EAT A IL/IME AR 5 10.07 ~0.13 0 -

110] 568 HBH 7 /A= 5 0.04 ~ 0.06 0 -

111 570| Bl 28 5 [0.07 ~0.07 0 -

112| 571 EATEE 1 A 7 0.06 ~0.13 0 -

113] 572|&AAR 7 0.08 ~0.12 0 -

114 576[F8 a3 =2 =F ¢ A[H 17 [0.06 ~0.12 0 -

115 577[ B X 2 L—D B\ [H 7 10.06 ~0.09 0 -

116] 579|)11¥ /AR 5 0.07 ~0.10 0 -

117] 580 “AARE A< AH 5 [0.06 ~0.07 0 -

118 454 |HF /AL 6 0.05 ~ 0.09 0 -

*ﬁ*ﬁ?ﬁﬂ 119] 4555 U708 /N 6 [0.06 ~0.07 0 -

120] 456|534 AL F] 6 0.08 ~0.10 0 -

121 569> U » B8 1 A 6 [0.05 ~0.07 0 -

122  499|BEEF 5 VH A ] 12 [0.05 ~0.07 0 -

123| 500|BEEF 5 A 11 [0.05 ~0.09 0 -

4 e 124] 501|dLAR 5 0.05 ~0.07 0 -

RREF 125] 502[KmAR 9 0.07 ~0.09 0 =

126 503|fE B IR A 6 [0.05 ~0.07 0 -

127] 504| H#E 5N 7 0.05 ~ 0.07 0 -

it 1,003 gﬁg

M HFE5emC0.23 1 Sv/hEB A - & TIc W T B i E DI a 77 1% O X B




@ geX (19281, 464 PT)

HIEH : FER23FEITHTH~12HTH

g 5ecm™TC 50cmC

. ! N HE I E 0.23 0.23
£55< Y K| No. %'57%; AR 1% T (u Sv/h) Sv/h% Sv/hiluﬁ
(&P | (&P

1|  55|mBGAE 7 0.05 ~0.18 0 -

2| 1354+ DN 15 [0.06 ~0.16 0 -

3| 153KJIHAT/N 15 10.06 ~0.12 0 -

4 202[FFExD X ENHE 6 0.06 ~ 0.08 0 -

5| 204[fEFE 4 T HAR 6 0.09 ~ 0.10 0 -

6] 220\FHFJE 1 T BIEIE X AN 6 0.07 ~ 0.09 0 -

s 7| 226[/ L R A E 7 0.06 ~ 0.09 0 -

8| 300|F & DI LIFoIFAH 5 0.07 ~ 0.09 0 -

9| 342 FHAR R i 12 10.05 ~0.08 0 -

10[ 350 F =< HAHE 14 [0.05 ~0.13 0 -

11| 356[4E5 4 THH WU Z A 4 0.07 ~ 0.09 0 -

12| 357[4ERR 4 T H = /LA 7 0.07 ~0.13 0 -

13[ 361{m5dH U S WA 6 0.05 ~ 0.09 0 -

14 365[% FAHT 3 T H A 5 0.07 ~ 0.09 0 -

15 120K AE 10 [0.05 ~0.06 0 -

16| 13| RBRAH 10 |0.04 ~0.11 0 -

17 14|t R0 AR 12 10.05 ~0.14 0 -

18]  39[iEH 4 T HAR 9 [0.06 ~0.10 0 -

19 97[iEH 5 T HAR 7 0.06 ~0.17 0 -

20| 131|{mEBA S > AR 4 0.07 ~0.10 0 -

21| 16635 < D B[ 5 0.06 ~ 0.07 0 -

22 181[FAFR 727> KL U/ 6 0.09 ~0.12 0 -

23| 188/ E A 17 10.06 ~0.22 0 -

24| 196|FAREA /N 8 0.05 ~0.08 0 -

25 205[FHELE 8 T H& U S WA 7 0.07 ~ 0.21 0 -

“gg—PE 26| 262|/hl12 T H S Z AU 9 0.07 ~0.10 0 -

E 271 292/h 2 TEH X0 A 13 [0.05 ~o0.16 0 -

28] 319[/hli2 THL 3D XA 7 0.07 ~0.11 0 -

29 320{* 45T HAR 8 0.06 ~ 0.09 0 -

30| 325|iFHr 6 T H/AR 5 10.07 ~0.09 0 -

31| 360|FMMEA < 9D XA 7 0.08 ~0.14 0 -

32| 367[1E#HT 5 T H S NH WA 5 0.07 ~ 0.09 0 -

33| 382|mMEAC E S X AR 6 0.07 ~0.12 0 -

34| 399|mMEAA E D AR 7 10.06 ~0.07 0 -

35| 426|1EHF L AR 5 0.06 ~0.13 0 -

36| 427|MBADH U S VAR 7 0.07 ~0.11 0 -

37] SI13[FAFLE 7 T H AR 14 [0.06 ~0.16 0 -

38| G58[FAM 2 T H 9 ANAR 7 0.06 ~ 0.08 0 -

39  10[EAMRE 1A 5 0.06 ~ 0.10 0 -

40 11| TH TR 6 [0.05 ~0.15 0 -

41 22| B AT 3 N 5 0.05 ~ 0.09 0 -

FE L 42| 38[BEILE AR 5 10.07 ~0.11 0 -

431 40|= (LA 5 0.05 ~0.09 0 -

44 42'm ILIRANE 6 0.05 ~0.11 0 -

45 49 FJLiIR> < LA 5 0.07 ~0.11 0 -




e 5cm™C 50cm™C
. ' NG| I E illcss 0.23 0.23
FH-5< Y X | No. Fo N[44 ST (uSv/h) Sv/h% Sv/h%
(#Epr) | (f&pr)
46| 105(#11& 2 T HAR 4 0.08 ~0.10 0 -
A7 171z D = A[H 5 0.07 ~0.12 0 -
48| 340|H AR HIBE 5 A 5 0.06 ~ 0.08 0 -
49| 346| FJLIR GO BN 6 0.06 ~ 0.12 0 -
*ﬁlﬂ 501 374| = < B/NETALE 5 0.07 ~0.10 0 -
% 51| 395[/METIE 72 6 /A 6 0.07 ~0.12 0 -
52| 411 F IR BT 7 AN 5 0.06 ~ 0.12 0 -
53| 459|BiIL = B AR AR 5 0.07 ~ 0.09 0 -
54|  462[/NBT X7 g & N 7 0.07 ~0.11 0 -
55| 468[Z & AV OVINAT/AH 5 0.04 ~0.11 0 -
56 3IATE N 10 [0.05 ~0.13 0 -
57 A ENEIAE| 10 [0.05 ~0.21 0 -
58 5 FH2E AN 9 0.05 ~0.07 0 -
59 6|+ RN 13 [0.04 ~0.08 0
60 HENE 11 [0.05 ~0.14 1
61|  15|HH/A[H 12 [0.04 ~0.08 0
62|  92|=tR 2 T HAE 5 0.05 ~0.07 0 -
63| 126|F = AH 5 0.06 ~ 0.10 0 -
qjy% 64| 154[KiEHH U I WAHE 6 0.05 ~ 0.09 0 -
65| 1735+ R 2 T HARE 5 0.06 ~ 0.09 0 -
66| 206|FHA RN 10 [0.06 ~0.15 0 -
67| 306|=+RAT BHARE 6 0.07 ~ 0.20 0 -
68| 362|HFEE 5 T H A 5 0.07 ~0.08 0 -
69| 377|FHAEDUSHENIE 9 0.06 ~ 0.12 0 -
70| 386[FHELE 6 TH Z £ &0 AR 4 0.05 ~0.10 0 -
71l 460|Z LR 3 TEHARK 5 0.07 ~0.12 0 -
72| 466|FARLE 4 T H S v WA 5 0.07 ~ 0.09 0 -
73| 583 | FHAL R AN 5 10.05 ~0.09 0 -
74 9| A A 13 10.05 ~0.19 0 -
75 21| EARE 2 A 5 0.05 ~ 0.08 0 -
76|  52|BiL 5 T H A 5 0.06 ~ 0.15 0 -
77 94[RAIL 3 T HAE 5 0.07 ~ 0.10 0 -
78] 189[E N FEO L Z AR 10 [0.07 ~0.09 0 -
BN 79 235|TACH 2 THZ L LAK 7 0.07 ~0.08 0 -
80 288[F4%H 7 T HAE 11 10.06 ~0.10 0 -
81| 313|816 T HA KR 5 0.05 ~ 0.08 0 -
82| 402|EN 4 T HIZZIZ Z /A 10 [0.06 ~0.16 0 -
83| 403|ENFE4 T HWE WX /N 10 [0.06 ~ 0.09 0 -
84| 431|ENE 4 TH I3 Z 0N 7 0.05 ~0.08 0 -
85| 559|E 3 T H =M 10 ]0.06 ~0.09 0 -
86 8| 1L S /A 13 10.04 ~0.10 0 -
87|  16|H R/ 15 10.04 ~0.16 0 -
88|  24|Yeas A 1 /N[ 12 10.04 ~0.07 0 -
89|  25|3tN i 2 /N[ 10 [0.05 ~0.08 0 -
i’lﬁ B 90| 60| L & NN 5 0.07 ~0.11 0 -
91 e61[IA4 T HAE 6 0.05 ~0.15 0 -
92|  69|BytE 3 T HAAKE 9 0.06 ~0.18 0 -
93] 103|BtH 4 T H AR 5 0.05 ~0.07 0 -
94| 112|FTEN[H 5 0.06 ~0.11 0 -
95| 120|B B0 Fh 0 AH 5 0.06 ~ 0.08 0 -




e 5cm™C 50cm™C
. ' NG| I E illcss 0.23 0.23
FH-5< Y X | No. Fo N[44 ST (uSv/h) Sv/h% Sv/hid
(#Epr) | (f&pr)

96| 142|025 /AN 10 [0.05 ~0.07 0 -

97| 148| By EAR 6 0.07 ~0.08 0 -

98| 231|BtHE 1 T HAAE 5 0.05 ~ 0.06 0 -

JE 99] 381[U0Fb b AE 8 [0.05 ~0.16 0 -

100] 389\ A 2 T H /[ 11 [0.06 ~0.09 0 -

101 400|F#E2 THEDOR v hR—2 5 0.07 ~0.12 0 -

102 561 A2 T HOWMEY AR 10 [0.06 ~0.10 0 -

103 28| &5 1 AR 6 0.06 ~ 0.10 0 -

104 29| EE 2 AF 7 0.05 ~0.17 0 -

105  30|HEFEE 3 A 10 [0.06 ~0.09 0 -

106 31|z NARE 11 [0.06 ~0.10 0 -

107 32| duskz N/ 5 0.07 ~0.16 0 -

108  54|i%F 2 T H /AH 7 0.05 ~0.11 0 -

109 64| BRI & A 5 0.07 ~0.10 0 -

110 72|82 NI AT ALE 5 0.06 ~0.10 0 -

111 74| ERE S S OVAR 7 0.05 ~ 0.08 0 -

12| 78[ILFELAE 6 0.07 ~0.08 0 -

113[ 106|#HE 2 T HAR 9 0.05 ~ 0.09 0 -

114 114|822 NE 2 AR 5 0.06 ~ 0.09 0 -

115 141] FJEAE 15 [0.07 ~0.11 0 -

116 144|1%:0 1 T B /AH 5 0.07 ~0.10 0 -

117 193\ B0 AT V) 9 /A 5 0.06 ~ 0.09 0 -

118 208 B3 AT/ 15 [0.05 ~0.08 0 -

119 209|3E0 1 THE 1 A 10 [0.05 ~0.08 0 -

KEFAE [T120] 216]0#0 2 THE 2 AR 4 ]0.06 ~0.10 0 -

121 221 BRERANEH 15 [0.06 ~0.12 0 -

122 229\ BF AT 5 2 /N[ 5 0.07 ~ 0.09 0 -

123| 275[EF) Z1F 5 A 8 0.06 ~ 0.09 0 -

124 298| Bk B3 5] 6 0.07 ~0.08 0 -

125 305| Fr ik v 1113 ] 5 0.07 ~0.08 0 -

126] 314 EHOARRT & A <0 AN 9 0.04 ~0.08 0 -

127] 318|H:Fn 1 T H/AF 12 10.04 ~0.11 0 -

128 345|E R/ 7 0.07 ~0.11 0 -

129 364 | B B3 1 528 ] 5 0.07 ~0.12 0 -

130 369|4R Ik /[ 13 [0.05 ~0.14 0 -

131 371|3EF0E A D FEALH 5 0.08 ~0.14 0 -

132 372| EAREBIT A AT X AN 5 0.05 ~0.09 0 -

133 380\ HIMEFil 1 T H/AR 11 [0.04 ~0.11 0 -

134] 383\ T DAL 9 0.06 ~0.15 0 -

135 422|HFndb /8= 11 ]0.07 ~0.10 0 -

136  440|i B3 & 7> 82 F A\ 7 0.06 ~0.13 0 -

137] 507 B EFi0 4 T H m/AR 5 [0.06 ~0.07 0 -

138  73|HA W EAR 5 0.07 ~ 0.09 0 -

139] 80| H 44 H /A [H] 11 [0.06 ~0.11 0 -

140 111{z541/AR 5 0.06 ~0.07 0 -

EEI% 141] 134|HA4 A E D B /AL 8 0.07 ~0.09 0 -

142 167| HA4 g A 8 0.07 ~ 0.09 0 -

143 178|/KABH A O LA 7 0.06 ~0.12 0 -

144]  179|7KH A4 Fr 70 2N 9 0.05 ~0.16 0 -

145 197| M4 B /AR 8 0.05 ~ 0.09 0 -




e 5cm™C 50cm™C
. ' NG| I E illcss 0.23 0.23
FH-5< Y X | No. Fo N[44 ST (uSv/h) Sv/h% Sv/hid
(#Epr) | (f&pr)
146 230[H4 KEZAR 10 [0.05 ~0.13 0 -
147 249| W4 Hr1s N 9 [0.05 ~0.09 0 -
148 304|¥.2PN T > N7 N 10 ]0.06 ~0.12 0 -
149 311[HifE S oA 5 0.06 ~ 0.09 0 -
150 335|/KAFHA & =N 6 0.05 ~ 0.09 0 -
151 368|H4#H1E b E LA 4 0.07 ~0.10 0 -
152 384|HACT b XA 10 [0.05 ~0.09 0 -
153] 385|HA DN E Y AIH 6 0.06 ~0.15 0 -
EH% 154 416| LIB72HH 5 I AMH 10 [0.05 ~0.07 0 -
155 421 H A WNALR A 5 0.07 ~0.10 0 -
156) 424|142/ 7 0.06 ~0.16 0 -
157 443|LB7ZTe >0 B AR 10 [0.05 ~ 0.08 0 -
158  444| M4 & im /AR 8 0.05 ~ 0.09 0 -
159 446 H 4 M H 03 5 /AR 6 0.08 ~0.16 0 -
160 506| HA 85 XA 5 0.08 ~0.10 0 -
161] 537|LE72 25 LIEAKE 6 0.06 ~ 0.07 0 -
162| 5553 H )\ /A [F 7 0.06 ~ 0.08 0 -
163 578[/KMBHA 2 T H AR 8 0.07 ~ 0.09 0 -
164  48|hr kN 5 0.06 ~ 0.09 0 -
165 53| ALK 8 0.05 ~0.12 0 -
166 58| Eik /N 12 [0.04 ~0.09 0 -
167 65T >IN 9 0.05 ~0.10 0 -
168 70[ME I 2L A 7 0.06 ~ 0.08 0 -
169 71| BiEYT o F-AHE 7 0.05 ~ 0.06 0 -
170  95|H &AL 6 0.06 ~0.07 0 -
171 96| Bl Z £ £V A 6 0.05 ~0.10 0 -
172 102| M F 1 AR 12 10.04 ~0.07 0 -
173] 110| ki 7 T H /A 8 0.05 ~0.10 0 -
174 115|HAE 2 /N 11 [0.05 ~0.09 0 -
175] 123| H &IRAH 6 0.07 ~0.10 0 -
176 161 F+BH /AR 5 0.06 ~0.12 0 -
177] 190 i &0 N[ 4 0.07 ~0.11 0 -
J:‘]ﬁ 178 194[8)11& U & VWA 8 0.06 ~0.16 0 -
1791 200[&)11>> U 4 0.06 ~ 0.08 0 -
180 201|ME 1AL AT 2N 5 0.06 ~ 0.07 0 -
181 246| LiEH 6 5/ 7 0.06 ~0.18 0
182 250|&JF/A[H 8 0.06 ~0.18 1 0
183 259| L1117 /8] 15 [0.05 ~0.14 0 -
184 277| EyfE>> U/ 6 0.06 ~ 0.08 0 -
185 2964 (3 LN 9 0.05 ~ 0.08 0
186] 373 iU AN 11 10.06 ~0.18 2
187 376| Bk /N 9 0.07 ~0.14 0
188]  396|:E LRI 70 A" & /N[ 7 0.06 ~0.09 0 -
189] 458 B Y 5 5 WA 7 0.05 ~0.11 0 -
190 510 i g A R 7 0.06 ~0.11 0 -
191 538 iUy &4 = 0h A 6 0.06 ~ 0.07 0 -
192| 552 ki KJRARE 8 0.05 ~ 0.09 0 -
& it 1, 464 ii{@:\
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@mX (2111, 783 FT)
HIE H : SER23E11H8H~12H7H

e 5ecmTT 50cm™TC
S NTH — HIE HIE A 0.23u | 0.234
FHICORH | No. | e Al @ | (usv/n) | svhi@ | sv/nid
(FpPr) | (FEPD)
1| 23)MEAH 14 [0.05 ~0.11 0 -
2| 27| EIE AN 9 0.04 ~ 0.08 0 -
3| 41RO EAAE 12 [0.06 ~0.12 0 -
4 75| S < B 5 0.05 ~ 0.06 0 -
5| 83|HpxEHN[H 10 ]0.05 ~0.17 0 -
6]  84|HIET A AVARE 11 [0.06 ~0.15 0 -
7] 86| ILEA[H 7 0.05 ~0.13 0 -
8 89|x 33X N 7 0.06 ~0.13 0 -
9 100[7RIEZE 2 /A 7 0.05 ~ 0.07 0 -
10 104| BESRT 3 X720 6 10.08 ~0.11 0 —
11| 118 & & /A 15 [0.05 ~0.14 0 —
12| 121|807 &> X /A 5 0.06 ~ 0.09 0 —
13| 122|1#BE 2 T H AR 5 [0.04 ~0.08 0 -
14| 125\ SRS 7 0.06 ~ 0.08 0 -
15 128[ &SR NN 7 10.05 ~0.09 0 —
16| 130|3LIL/AR 6 0.05 ~0.14 0 -
17| 140 BB 2 RN 5 0.06 ~0.10 0 -
18| 1503 F [/ 11 ]0.04 ~0.11 0 -
19| 151 EEBR (LE /N 5 0.07 ~0.13 0 —
20| 1566|242 6 0.06 ~0.09 0 -
21 159[HAN[H 11 [0.05 ~o0.11 0 -
22| 177 |40 E A BE AN 7 0.05 ~0.11 0 —
23| 1803t = > E A 5 0.07 ~0.10 0 -
KEFEE 24 192[fHEEREF 2 T H /AR 4 0.07 ~0.09 0 =
25| 195|fHFEKEF 7 T H /A 20 10.06 ~ 0.22 0 -
26| 210 H 0 H KR BN 13 [0.03 ~0.15 0 -
27) 211| EEBTE LA 7 10.06 ~0.10 0 -
28| 217[MHFEZ 2 HEENR 5 [0.08 ~0.09 0 -
29 218[3tx 2 T HAE 7 0.05 ~0.16 0 -
30| 222\ FEF K EF L 1A 9 [0.06 ~0.13 0
31| 228[FEFEKEF R DA 11 [0.06 ~0.11 1 0
32| 238lfE 72k LAR 5 [0.07 ~0.12 0 -
33| 262|4 1HRT A 13 10.06 ~0.14 0 -
34| 264| FATAE 11 ]0.05 ~0.15 0 -
35| 272|180 & b 72 B A 11 [0.05 ~0.16 0 -
36| 27430 11 [0.07 ~0.20 0 -
37) 278|Lb b 0L AR 5 [0.07 ~0.13 0
38| 284| 7T YT ¢ AR BN 15 [0.05 ~0.20 1
39 297U A E Y DA 9 [0.05 ~0.15 0
40 299| [LIHF B /A 5 0.05 ~0.12 0 -
41| 312|133 LA 0.06 ~ 0.09 0 -
42| 317|FE TR 2N 15 [0.05 ~0.16 1
43 321 EAFAAE 10 [0.05 ~0.09 0
44| 322|HFF = o X A 0.05 ~0.07 0 -
45 337| FEBRIAST B A 10 [0.05 ~0.12 0 -
46 341\ E FAH 5 10.07 ~0.09 0 -
47| 344|7F5E EAR 7 10.05 ~0.12 0 -




e 5ecmTT 50cm™TC
- ¥NES = HIE B EF 0.23 0.23

EHIC YR No. | 2 m “RA T (1 Sv/h) SV/h% Sv/hﬂl;ﬁ

(Fpr) | (FEPD)
48| 349| A X B b A 5 0.05 ~ 0.08 0 -
49| 355 F RN I AR AEH 4 [0.06 ~0.07 0 -
50 359|HFnH /A 6 0.05 ~ 0.07 0 -
51 366|KE B AR 5 [0.07 ~0.13 0 -
52| 3T KEBF O E 0 A7 v hi—2 8 [0.07 ~0.14 0 -
53| 394l F = IFAH 4 [0.05 ~0.06 0 -
54| 397 EEBH DT 8 0.05 ~0.15 0 —
55| 407|E =< B 8 0.09 ~ 0.22 0 -
56| 4174 0B LT AE 6 0.05 ~0.13 0 -
57 423[IE 2 T H A 5 0.06 ~0.10 0 —
58| 425[ FEBRIAHT (L8 P /A [ 4 10.06 ~0.08 0 —
59| 429| FEBFIAKT ILE 72y L LA 4 0.07 ~ 0.08 0 -
60| 436| EEBHIAHT 9 T H /AR 9 0.05 ~ 0.09 0 -
KEFEE 61 457|177 ¥ =R 7 |0.06 ~ 0.07 0 =
62 46130 FJF/AR 9 0.07 ~0.12 0 -
63| 463 3 O ALF 8 0.06 ~0.09 0 -
64| A64|FARIREF 7 THZA X LARK 8 0.05 ~ 0.08 0 -
65| A467[HA E D AL 7 0.08 ~0.14 0 -
66| 512|HARARE 15 [0.04 ~0.07 0 -
67| 517| LEBFEIANT 5 T HHEH 5 XA 6 [0.06 ~0.08 0 -
68| 520 FEBEIANT 5 T HAT 2 WA 6 10.08 ~0.15 0 -
69| 522\ BT & 7> X /[ 21 10.05 ~0.16 0 -
70[ 540 EEBRE IE LR 10 [0.06 ~0.12 0 -
71| 541[EIE LA 7 0.03 ~0.08 0 -
72| SA6lMEERE 7T TH7 A7 7=y haE| 15 [0.04 ~0.17 0 -
73| GAT| HEERIART 5 TH £ >0 X /A 5 10.08 ~0.10 0 -
74 560|fHIE 4 T H A7 SN 6 0.05 ~ 0.08 0 -
751 43| REREAR 5 [0.05 ~0.08 0 -
76]  A4[FF 6 T HARE 5 0.05 ~ 0.09 0 -
77 45| Erp /N[ 5 0.06 ~0.12 0 -
78| 46|/INETENE 5 0.05 ~0.10 0 -
791 47 /J\‘?B.ﬁﬁk@ 10 [0.05 ~o0.10 0 -
80|  51|JE B AR 10 10.07 ~0.16 0 -
81| 76[K¥r5 5T HAE 5 0.06 ~ 0.08 0 -
82|  SI[FAARZ 1 /AL 7 0.06 ~ 0.09 0 -
83| 82[FAARZE 2 A 5 0.05 ~0.10 0 -
84| 91{K¥rE 7 T HAE 4 0.06 ~ 0.09 0 -
85| 113|FAAILANTALH 10 ]0.05 ~0.17 1 0
86| 124 KEFH 0> 2 T 5 [0.06 ~0.08 0 -
KEFH 87] 157[KEFH 6 T HARK 14 [0.05 ~0.12 0 =
88| 162|#BHEF AR = 1F O AF 5 10.07 ~o0.14 0 -
89 172[K¥r5 4 T HAE 6 0.05 ~0.11 0 -
90| 174 KErH 2 T HA 8 [0.05 ~0.07 0 -
91| 225\ K 7en L LA 6 0.06 ~0.11 0 -
92|  233| 4B AR IE B AR 5 0.06 ~0.10 0 -
93| 234|fBEF A7 X LA 4 0.07 ~0.11 0 -
94| 237 K%EFH 6 T HE 2 /A 13 [0.05 ~ 0.08 0 -
95 239[RF VNI AH 5 0.08 ~0.09 0 -
96| 243| KR¥EFH7e0 L LA 8 0.06 ~0.11 0 -
97| 261 F kA 5 0.05 ~ 0.07 0 -
98| 280| i ihiEg 8 10 [0.05 ~0.16 0 -
99| 281| FEAEET AR 10 [0.06 ~0.17 0 -




n—— 5ecmTT 50cm™TC

N N - e ilreg s 0.23 0.23
EHIC YR No. | 2 m “RA T (1 Sv/h) SV/h% Sv/hﬂl;ﬁ
(Fpr) | (FEPD)

100[ 285 KEF5 4 T H 58\ 8 [0.06 ~0.14 0 -

101|301 | PE A9 o e/ ] 13 [0.04 ~0.17 0 -

102] 310|144/~ 1 T HAAE 5 0.06 ~ 0.07 0 -

103|  316| &I A[EH 14 [0.05 ~o0.11 0 -

104 324|#EEr ARCd b XA 6 [0.06 ~0.10 0 -

105] 326 KEFH A &V A= 6 10.06 ~0.12 0 —

106] 327\ KR¥Ey&1 T HAR 5 0.05 ~ 0.07 0 -

107 333|129 2 AN 5 0.07 ~0.10 0 -

108 347|#EEARON L Z AR 5 10.06 ~0.09 0 -

109  348| &AL E 13 [0.05 ~0.10 0 —

110[ 370| HOD B 5 0.06 ~ 0.10 0 -

111 390| d ki ve 26 — /N[ 6 0.08 ~0.17 0 -

KEFH a2 91| HEwEE =2 5 [0.05 ~0.08 0 -

113| 398| KEH 3 THHBE S A 4 10.06 ~0.07 0 —

114] 408|454~ HaE Y /3 5 0.06 ~ 0.10 0 -

115 410/ K¥p&5T5H THNE 5 0.07 ~0.14 0 -

116 420/ K¥pE 1 T H N I AXAH 5 0.05 ~ 0.08 0 -

117 435|KEH 1 T H-OD LA 6 0.05 ~0.09 0 —

118 437\ KEH 3 T HIF A XA 5 10.05 ~0.09 0 —

119 438/ KEFH51 T HE L X L 9 0.06 ~ 0.09 0 -

120 508|EEFAR 1 THOOUE 1K 9 [0.06 ~0.09 0 -

121 509[#8%F#x 1 THOOUH 26| 5  [0.06 ~0.07 0 -

122] 550[#EEF AR & < B 5 10.06 ~0.08 0 -

123 553 KB & e/ 11 [0.05 ~0.08 0 -

124 B75|FRIEE A<V AR 12 10.03 ~0.11 0 -

125 57| = JHAR 9 0.06 ~0.15 0 -

126| 244 H LA [H 10 10.06 ~ 0.09 0 -

127 245|&i1 » BAE 11 [0.07 ~0.13 0 -

128| 248|<1E 5 WA 13 10.05 ~0.12 0 -

129  263| 24 B BN ] 12 [0.06 ~0.15 0 —

130 266| FHHLEE 1 /A 5 10.07 ~0.09 0 -

131] 267 FH I 2 /A 6 0.06 ~0.11 0 -

132 271 Bt 6 [0.08 ~0.13 0 -

JRTE 133] 331 FiE P IR AR 5 [0.06 ~0.09 0 -

134 358|48IR/A[H 6 |0.07 ~0.08 0 —

135 441| FifE EARAE 6 10.05 ~0.09 0 -

136|  442| FifEA 7= N 6 [0.06 ~0.09 0 -

137 539 & B oF X AN 5 10.07 ~0.09 0 -

138| 545 T+ =/ A 5 0.05 ~ 0.08 0 —

139] b548| FREEE 1 AH 5 0.06 ~ 0.08 0 -

140| 549 FREF 2 A 5 [0.06 ~0.08 0 -

141 584[1Z D JFHE — /N 8 [0.04 ~0.06 0 -

142]  93|#9 T A 5 0.05 ~ 0.09 0 -

143 117#B =B A 27 10.05 ~0.13 0 -

144| 175 FEsE S AR 5 10.07 ~0.10 0 -

145 2233 7 /8 10 [0.05 ~0.12 0 -

%ﬁﬁ%}% 146| 24053 " 0 1 B 5 10.07 ~0.08 0 -

147 241|BEER 22 X LR 5 [0.06 ~0.09 0 -

148| 258 Ik » N N[H] 5 0.06 ~ 0.09 0 -

149 269| FREE AT 5 LA 5 10.06 ~0.08 0 —

150]  270] TR BR A B 5 0.07 ~ 0.08 0 —

151 328|Hr 7> UARE 5 [0.07 ~0.12 0 -




n—— 5ecmTT 50cm™TC
N /NP = e T E 0.23 0.23
EHIC YR No. | 2 m “RA T (1 Sv/h) SV/h% Sv/hﬂl;ﬁ
(Fpr) | (FEPD)
152 26| & 17 [0.05 ~0.14 0 -
153| 59| RIS E 13 [0.06 ~0.18 0 —
154  62|fHEE 5 T HAR 9 10.05 ~0.17 0 —
155| 68| ELZ 1% & A 5 0.06 ~0.07 0 -
156  85|FFEIOME W A 7 10.05 ~0.07 0 -
167|  S87[MEHEE 4 T HARF 14 [0.05 ~0.18 0 -
158] 88|mtH 1 T HAHE 6 0.04 ~0.10 0 -
159 90| & 5 T HAK 10 [0.06 ~0.14 0 -
160[  109|Fd & Ao JE A 11 [0.06 ~0.15 0 -
161] 170|850 H/AH 11 10.05 ~0.10 0 -
162| 203[1Z D AR 5 10.05 ~0.10 0 -
163 213|f/Hf5 5 T HEE 2 8 9 [0.06 ~0.10 0 -
FAE S 164] 219[Hf%Er 2 T H AR 9 ]0.05 ~0.13 0 -
H 165| 227|fiH 6 T HAR 15 [0.04 ~0.09 0 -
166] 309[miH & An D A 13 {0.07 ~0.12 0
167| 323|#8 » FE[HHEE 1 AF 17 [0.04 ~0.21 1
168]  334[FH#R 5 mE /AR 12 10.05 ~0.09 0
169| 338[#kiEH 8 T H A 7 0.06 ~ 0.08 0 —
170| 3521MHE G T A 7 v 7 IN[H 16 [0.05 ~0.16 0
171 432|mE BN 36 [0.05 ~0.19 2
172 505|B4E AN 12 [0.05 ~0.10 0
173] S42[iES 2 T HAHE 5 0.07 ~0.13 0 —
174 544|872 A0 O AH 4 0.06 ~0.12 0 -
175 5515 5 T HAE 9 [0.05 ~0.08 0 -
176] 562|Fi 5 7 HE » B/ 8 [0.07 ~0.15 0 -
177 563|Fi& 5 T HH » VAR 11 [0.05 ~0.20 0 -
178| 34| BriEr rd AR 13 [0.05 ~0.18 0 -
179 127 E A &0 A 4 10.08 ~0.09 0 -
180[  132|rh By /3 [ 12 [0.06 ~0.21 2
181 133k Er v /3 =] 15 [0.05 ~0.16 0
182 185\ FHE 15 [ H e/ 18 [0.04 ~0.19 0 —
*Hﬁ:ﬁb‘ 183| 186[FHRK B M 2 /A 15 [0.04 ~0.13 0 -
H 184] 187|FHEH L 3 /AR 10 [0.05 ~0.13 0 —
185 207 [#Hz 5 FHHIEG AR 26 10.05 ~0.20 1
186 214|fHE G2 B A 7 10.05 ~0.10 0
187| 330[fHEE 1 T HAR 10 10.06 ~0.20 0 -
188 418 HEEF 3 THARZ v ho3—2 7 0.08 ~0.11 0 -
189| 554IMHRE 1 THXFIF Y LA 5 0.06 ~ 0.09 0 -
190|  18|ARASEZ/ALE 15 [0.04 ~0.08 0 —
191  20|/EEAE 15 [0.04 ~o0.11 0 -
192  35|ARRIZE 2 ZAF 12 [0.05 ~0.12 0 -
193 36|#RMIEF 3 A 9 0.05 ~ 0.07 0 —
194  37[ARMIE 4 AL 10 [0.05 ~0.16 0 -
195 56| B 16 10.05 ~0.13 0 -
ﬁ% 196] 63| HAKR 7 T H /A 5 0.06 ~0.13 0 -
197|  108| HUARIH BR 728 10 [0.06 ~0.16 0 -
198 119| FiEMH > LAk 6 10.06 ~0.14 0 —
199 136]| BB & S X /A 8 0.06 ~ 0.08 0 -
200) 147{#K[H B AR 9 10.06 ~0.19 0 -
201 152|RADNER S 2 /N 5 10.07 ~0.09 0 -
202 160(3 » KA 10 [0.05 ~0.13 0 -
203| 265 E#BIE 4 T H /A 6 [0.06 ~0.14 0 -




n—— 5ecmTT 50cm™TC

N N - e ilreg s 0.23 0.23
EHIC YR No. | 2 m AR T (1 Sv/h) SV/h% Sv/hﬂl;ﬁ
(Fpr) | (FEPD)

204 282|AHFA Y Z W DAL 10 [0.04 ~0.11 0 -

205|  287| HARA 72 AN 10 [0.05 ~0.09 0 -

206| 308 AR E 5 23 [ 4 0.05 ~0.07 0 -

H 207| 363 &N A FAAE 6 [0.05 ~0.09 0 -

208 412|140 & < LA 5 [0.07 ~0.08 0 -

209 439|fHEEH U S WA 5 10.07 ~0.13 0 -

210] 465| HARRH = < B A 7 10.05 ~0.10 0 —

211 511|FFE3 T B ek LAE 5 0.07 ~0.11 0 -

&t 1,783 13%%
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(3) fkE. RETRAREZE (1682456 FT)

HER - SER23FE11H 15 ~12H9H

X 1. |am | EEE | oose | 008,
F 55D XiEk| No. x5 NERd %ﬁﬁ (,u Sv/h) S;//hﬁ S;f/hkjﬁﬁ
(FD | (4ED
B 1| 70788 SlE R B IR - dUEA | 7 [0.07 ~0.09 0 -
gL 2| 938D 2 /N 5 [0.06 ~0.09 0 -
3| 939+ IRAR 4 10.06 ~0.10 0 -
R 4] 937|BE)IE AR 9 [0.05 ~0.08 0 -
BT 5| 947|F ILBIAKAR 9 10.08 ~0.09 0 -
6| 941|==— T A 5 10.09 ~0.10 0 -
FHAFTHH 7| 942\ i A 6 |0.06 ~0.09 0 -
8| 943|H VeV LA 7 10.06 ~0.08 0 -
/N 9| 706|585 IERHE IRy - R 6 [0.07 ~0.09 0 -
e 10l 290 ﬂﬁﬁﬁﬂﬁ’%iﬁ 14 [0.04 ~0.12 0 -
11| 291|AEV DHL 39 10.04 ~0.22 0 -
KEFL 12| 705|881 S T E Yy - LE 4 [0.05 ~0.07 0 -
4 13[ 922| LB725F 1 /KR 5 10.05 ~0.08 0 -
H 14 923| LB725F 2 /K% 10 0.06 ~0.10 0 -
X ~FEX) | 15| 701|HEuAE E G 109 [0.04 ~0.21 1 0
(X ~FX) [ 16| 293|SBHfh X L/ v 6 [0.05 ~0.11 0 -
=y 7t 245 1% O AT

KHIF5emT0. 23 1 Sv/hE B Z -G OV TIE. EE OIS 21T > 2% OBUE
MEREICHOWTE, FEEAZRE L TCWAEF. ORIV THRIE
MARETRARIZOWTIEHRAAO & 5 fE AT W CHIE
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